
PERCENTAGE

BASIC-1

1. Find 1% of 700 ?
700 dk 1% fdruk gksxk\
(a) 70 (b) 0.07
(c) 7 (d) 0.007
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2. Find 700% of 1?
1dk 700D;k gksxk \
(a) 700 (b) 70
(c) 7 (d) 0.7

3. Find 400% of 3 ?
3 dk 400 D;k gksxk \
(a) 10 (b) 12
(c) 8 (d) 6

4. Find 3% of 400 ?
400 dk 3% fdruk gksxk\
(a) 120 (b) 12
(c) 1200 (d) 4

5. Find 7% of 600 ?
600 dk 7% fdruk gksxk\
(a) 42 (b) 420
(c) 420 (d) 0.042



6. Find 10% of 150 ?

150 dk 10% fdruk gksxk\
(a) 150 (b) 15
(c) 0.15 (d) 1.5

7. Find 20% of 450 ?
450 dk 20% fdruk gksxk\
(a) 45 (b) 90
(c) 0.9 (d) 0.09

8. Find 30% of 1500 ?
1500 dk 30% fdruk gksxk\

(a) 45 (b) 0.45
(c) 0.0045 (d) 450



9. Find 60% of 500 ?

500 dk 60% fdruk gksxk\
(a) 300 (b) 200
(c) 150 (d) 450

10.Find 75% of 800 ?
800 dk 75% fdruk gksxk\
(a) 500 (b) 400
(c) 600 (d) 200

11.Find 25% of 1200 ?
1200 dk 25% fdruk gksxk\
(a) 300 (b) 750
(c) 30 (d)75

12. Find 80% of 200 ?
200 dk 80% fdruk gksxk\
(a) 40 (b) 80
(c) 160 (d) 320



13.Find 12.5% of 200 ?
200 dk 12-5% fdruk gksxk\
(a) 25 (b) 12.5
(c) 50 (d) 75

14.Find 2.5% of 600 ?

600 dk 2-5% fdruk gksxk\
(a) 60 (b) 30
(c) 15 (d) 7.5

15.Find 7.5% of 1000 ?
1000 dk 7-5% fdruk gksxk\
(a) 750 (b) 0.075
(c) 75 (d) 7.5



16.Find 22.5 % of 5000?
5000 dk 22-5% fdruk gksxk\
(a) 1125 (b) 1225
(c) 1305 (d) 1425

BASIC -2

1. How is 15%expressed as
fraction ?
15%dks fHkUu esa cnysa\

(a) 5
100

(b) 3
20

(c)3
5

(d)5
4

2. How is 45%expressed as
fraction ?
15% dks fHkUu esa cnysa\

(a) 3
10

(b)6
9

(c) 9
20

(d)4
5



3. How is 3
4

expressed as
percentage ?
3
4
dks% esa cnysa\

(a) 60% (b) 70%
(c) 75% (d) 80%

4. How is 7
4
expressed as

percentage ?
7
4
dks% esa cnysa\

(a) 75% (b) 175%
(c) 7.5% (d) 125%

5. How is 25%expressed as
decimal ?
25% dks n”keyo esa cnysa\
(a) 0.25 (b) 0.025
(c) 0.5 (d) 2.5



6. How is60%expressed as
decimal ?
60% dks n”keyo esa cnysa\
(a) 0.06 (b) 0.6
(c) 0.006 (d) 60

7. How is 3/5 expressed as
decimal ?
3@5 dks n”keyo esa cnysa\
(a) 0.6 (b) 0.06
(c) 0.006 (d) 60

8. How is5/4 expressed as
decimal ?
5@4 dks n”keyo esa cnysa\

(a) 12.5% (b) 0.25 %
(c) 1.25% (d) 1.225%



9. The ratio 5 : 4 expressed
as a percent equals
5 % 4 ds vuqikr izfr”kr
ds :Ik esa fdrus cjkcj gSA

(a) 12.5% (b) 40 %
(c) 80% (d) 125%

10. 3.5 can be expressed in
terems of percentage as
3-5 dks izfr”kr ds :Ik esa cnysa
\

(a) 0.35% (b) 3.5%
(c) 35% (d) 350%



BASIC -3

1. If X is 8 times of Y
then
X , Y dk 8 xq.kk gS rks
a) How much % is Y
less than X ?
Y , X ls fdruk izfr”kr
de gSA

(a) 700 (b) 87.5
(c) 65.5 (d) 64.6

b) How much % is X
greater than Y?
X , Y ls fdruk izfr”kr
vf/kd gSA

(a)87.5 (b) 700
(c)65.5 (d)78.6

c) What percent is the
X of the Y?
X , Y dk fdruk izfr”kr
gSA

(a) 12.5 (b) 375
(c) 420 (d) 800



d) What percent is the
Y of the X
Y ,X dk fdruk izfr”kr gSA

(a) 600 (b) 500
(c) 800 (d) 12.5

2. P is six times as large
as Q. How much
percent is Q less than
P ?
P. Q ls 5 xq.kk cM+k gSA Q.
P ls fdrus izfr”kr de gS\
(a) 40% (b) 50%

(c) 80% (d) 70%



3. A team played 40
games in a season and
won in 24 of
them.What percent of
games played did the
team win?
,d Vhe us 40 [ksy [ksys vkSj
muesa 24 thrsA rnuqlkj ml
Vhe }kjk thrs gq, [ksyksa dk
izfr”kr fdruk gS\
(a)50% (b) 40%
(c) 60% (d) 80%

4. If the population of
women in a village is
90% of population of
men. What is the
population of men as
a percentage of
population of women ?
;nh fdlh xk¡o esa fL=k;ksa dh
la[;k iq:’kksa dh la[;k dh
90% gks] rks iq:’kksa dh la[;k
efgykvksa dh la[;k dk fdrus
izfr”kr gksxh\

(a)9 1
9

% (b)111 1
9

%

(c)99 1
3

% (d)33 1
3

%



5. X’s income is 20%
more than that of Y.
What per cent is Y’s
income less than X?
Xdh vk;Ydh vk; ls

20 vf/kd gSAYdh vk;Xdh
vk; ls fdrus izfr”kr de gS\

(a)121
2

% (b)162
3

%

(c)263
4

% (d)221
2

%

6. Ram’s income is 40%
more than Shyam
then how much
percent is Shyam
income less than
Ram ?
jke dh vk; “;ke ls 40%
vf/kd gS rks“;ke dh vk; jke
ls fdruk izfr”kr de gS \
(a) 25.5% (b) 28.57%
(c) 35.6% (d) 74.6%



7. A’s income is 40% less
than B then how
much percent of B’s
income more than A ?
A dh vk;]Bls 40%de gS rks

B dh vk; A ls fdruk %
vf/kd gS \
(a) 66.67% (b) 33.33%
(c) 67.33% (d) 74.65%

8. Shyam’s income is
50% less than Ajit so
how much percent of
Ajit’s income greater
than Shyam ?
“;ke dh vk;] vthr ls 50%
de gS rks vthr dh vk; “;ke
ls fdruk % vf/kd gS \
(a) 300% (b) 50%
(c) 100% (d) 200%



9. The income of C is
20% more than B and
the income of B is
25% more than A.
How much percent is
C’s income more than
A?
C dh vk; B dh vk; ls
20 %vf/kd vkSj B dh vk; A
dh vk; ls 25%vf/kd gSA C
dh vk;] A dh vk; ls fdrus
izfr”krvf/kd gS\
(a) 30% (b) 40%
(c) 50% (d) 60%



BASIC -4

1. Two numbers are 50%
and 20% more than
3rd number
respectively then
nks la[;k,¡ Øe”k% rhljh la[;k
ls 50% vkSj 20% T;knk gS

1) What percent is the
1st of the 2nd
igyh la[;k] nwljh la[;k
dk fdruk izfr”kr gSA
(a) .025% (b) 125%
(c) 2.5% (d) 25%

2) What percent is the
2nd of the 1st
nwljh la[;k] igyh la[;k
dk fdruk izfr”kr gSA
(a) 60% (b) 40%
(c) 80% (d) 45%



3) How much percent
the 1st number is
greater than
2ndnumber
igyh la[;k] nwljh la[;k ls
fdruk izfr”kr vf/kd gSA
(a) 125% (b) 40%
(c) 80% (d) 25%

4) How much percent
the 2nd number is
less than the 1st
number
nwljh la[;k ] igyh la[;k
ls fdruk izfr”kr de gSA
(a) 10% (b) 20%
(c) 80% (d) 25%



2. Two numbers are
respectively 25% and
20% less than a third
number. What per
cent is the first
number of the second?
nks la[;k,¡ fdlh rhljh la[;k
ls Øe”k%

25% vkSj 20% de gSaA igyh
la[;k nwljh
la[;k dk fdruk izfr”kr gS\
(a) 85.6% (b) 25.5%

(c) 93.75% (d) 125.5%



3. Two numbers are less
than a third number
by 30% and 37%
respectively. The per
cent by which the
second number is less
than the first is
nks la[;k,¡ rhljh la[;k ls

Øel% 30%
vkSj37%de gSA nwljh la[;k
igyh la[;k ls fdrus izfr”kr
de gS\

(a) 60% (b) 40%
(c) 10% (d) 45%



BASIC -5

1. A student multiplied
a number by 3 instead
of 10. What is the
percentage error in
the calculation ?
,d fo|kFkhZ us fdlh la[;k dks
10 ls xq.kk djus ds LFkku ij
bls 3 xq.kk dj fn;kA ifjdyu
esa =qfV izfr”kr fdruk gS\

(a)30 (b)70
(c)20 (d)40

2. A student multiplied
a number by 15
instead of 20 . What is
the percentage error
in the calculation ?
,d fo|kFkhZ us fdlh la[;k dks
20 ls xq.kk djus ds LFkku ij
bls 15 xq.kk dj fn;kA
ifjdyu esa =qfV izfr”kr fdruk
gS\

(a)25 (b)125
(c)12-57 (d)1-25



3. A student multiplied
a number by 8 instead
of 20 . What is the
percentage error in
the calculation ?
,d fo|kFkhZ us fdlh la[;k dks
20 ls xq.kk djus ds LFkku ij
bls 8 xq.kk dj fn;kA ifjdyu
esa =qfV izfr”kr fdruk gS\

(a) 40 (b) 50
(c) 60 (d) 80

4. A student multiplied
a number by 4

15

instead of 4
5
. What is

the percentage error
in the calculation ?
,d fo|kFkhZ us fdlh la[;k dks
4
5

ls xq.kk djus ds LFkku ij

bls
4
15

xq.kk dj fn;kA

ifjdyu esa =qfV izfr”kr fdruk
gS\

(a)33-38 (b)66-67
(c)23-4 (d)57-6



5. A student multiplied
a number by 3/5
instead of 5/3 . What
is the percentage
error in the
calculation ?
,d fo|kFkhZ us fdlh la[;k dks
5@3 ls xq.kk djus ds LFkku ij
bls 3@5 xq.kk dj fn;kA
ifjdyu esa =qfV izfr”kr fdruk
gS\

(a)40 (b)64
(c)60 (d)72



Basi
:- 1 1.(c) 2.(c) 3.(b) 4.(b) 5.(a) 6.(b) 7.(b) 8.(d) 9.(a) 10.(c) 11.(a)

12.(c) 13.(a) 14.(c) 15.(c) 16.(a)
Basic
:- 2 1.(b) 2.(c) 3.(c) 4.(b) 5.(a) 6.(b) 7.(a) 8.(c) 9.(d) 10.(d)

Basic
:- 3

1a.(b) b.(b) c.(d) d.(d) 2.(c) 3.(c) 4.(b) 5.(b) 6.(b) 7.(a) 8.(c)

9.(c)

Basic
:- 4

1.1.(b
)

2.(c) 3.(d) 4.(b) 2.(c) 3.(c)

Basic
:- 5

1.(b) 2.(a) 3.(c) 4.(b) 5.(b)


